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QUESTION 1

When you create a cluster, you need to download a Kubernetes configuration (kubeconfig) file for the cluster. Which
three steps should be completed before downloading the kubeconfig file? 

A. Generate an API signing key pair. 

B. Verify whether you can access the cluster using Kubernetes Dashboard. 

C. Install and configure the Oracle Cloud Infrastructure CLI. 

D. Creating Kubernetes secret. 

E. Added the public key value of the API signing key pair to the User Settings for your username. 

Correct Answer: ACE 

https://www.oracle.com/webfolder/technetwork/tutorials/obe/oci/oke-full/index.html 

 

QUESTION 2

Examine the steps: 

1. 

Create a compartment. 

2. 

Create a group. 

3. 

Set up an OCI account. 

4. 

Create a policy. 

5. 

Create a user. 

6. 

Set up an OCI connection. 

Identify the steps in the correct order to configure a connection to Oracle Cloud Infrastructure Compute and Object
Storage in Visual Builder Studio Service. 

A. 3, 1, 5, 2, 4, 6 

B. 6, 3, 1, 2, 5, 4 
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C. 1, 2, 3, 4, 5, 6 

D. 1, 3, 5, 2, 4, 6 

Correct Answer: B 

https://docs.oracle.com/en/cloud/paas/developer-cloud/csdcs/service-setup.html#GUID-FD59F196-
95324044-9D0C-4F124158A3B9 

 

QUESTION 3

You confirm to have already installed kubectl and have an active OKE cluster with at least one node pool 

and worker node. 

What details of the nodes running in the cluster are displayed in the terminal window by running the 

command S kubectl get nodes when connected to the new cluster you have created? 

A. NAME READY STATUS AGE ROLES 

B. NAME TYPE STATUS PORT KIND 

C. NAME AGE TYPE VERSION CLUSTER-IP 

D. NAME STATUS ROLES AGE VERSION 

Correct Answer: C 

 

QUESTION 4

Which option represents three views of a Scrum board? 

A. Active Sprints, Reports, and Copy Boards 

B. Backlog, Active Sprints, and Reports 

C. Custom Boards, Active Issues, and Reports 

D. Backlog, Active Issues, and Reports 

Correct Answer: B 

https://docs.oracle.com/en/cloud/paas/developer-cloud/csdcs/use-agile-boards-update-issues.html Use 

Scrum Boards 

Using a Scrum board, you manage and update issues using sprints. A Scrum board has three views: 

Backlog, Active Sprints, and Reports. The Backlog view lists all active and inactive sprints of the board, 

and a backlog list of issues. The Active Sprints view enables you to manage the progress of issues of an 
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active sprint. The Reports view displays various issue reports. 

 

QUESTION 5

When you provision WebLogic Server for OCI that includes JRF components, you must provide details of an existing
database. Which criteria is not true in this scenario? 

A. If you intend to use Oracle Cloud Infrastructure Database (DB System) that is on different VCN than the WebLogic
Server VCN, then local VCN peering has to be configured. 

B. If you intend to use Oracle Cloud Infrastructure Database (DB System) then database must be provisioned in the
same compartment where WebLogic Server domain will be provisioned. 

C. If you intend to use an Oracle Autonomous Transaction Processing database then you cannot create WebLogic
Server 11g domain. 

D. Database options are Oracle Autonomous Transaction Processing and Oracle Cloud Infrastructure Database (bare
metal, virtual machine (VM), and Exadata DB systems). 

Correct Answer: A 
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